
ENGR 3323: Signals and Systems 

HW 4_Ch2 Answer Keys 

 

1a) (1-e-2t) u(t)  1b) (e-t - e-2t) u(t) 1c) 0.914𝑒𝑒−2𝑡𝑡−cos (3𝑡𝑡−326𝑜𝑜)
√13

  

d) (1 - e-2t) for 0 < t < 2 and 53.6e-2t for t > 2  e) e-2t u(t) f) e-2(t-2) u(t-2) 

 

2a) y(-1) = 0;    y(0) = 1;    y(1) = 1;    y(2) = 1;    y(3) = 1;    y(4) = 1;    y(5) = 1;    y(6) = 0; 

2b) 

 

 

3d) 

 

3e) The zero state response 

  

The total response  

  

4a) The system is BIBO stable and also asymptptically stable 

4b) The system is BIBO stable and marginally stable 

4c) The system is BIBO unstable and asymptptically unstable 

4c) The system is BIBO unstable and asymptptically unstable 

 

5)  

 


